VA VILLARTEC Mopensb arperarta: AB 4140 (Ckapudukatop 6€H3MHOBBI)

— ‘.A'.‘,‘
b o ks
)

A\

Vv
®OO
O

S

5



VILLARTEC

Mopenb arperarta: AB 4140 (Ckapucdpumkatop 6eH3MHOBbIN)

CHHCOK 3alacHBIX YacTen

Ne I1o3. [ApTukyJa geTamm HaumeHnoBanue KoJ-Bo
1 24263000070001A |ITyckoBoi peruar AB4140 1
2 3021302014  |Buar M5x40 AB4140 2
3 21061001113201N |[ITaitoa AB4140 2
4 2426200017A  |Dukcatop myckoBoro peryara npasbiii AB4140 1
5 24261000060001B |DukcaTtop myckoBoro peruara Jiessiii AB4140 1
6 2425800003A  |IIpyxuna AB4140 1
7 24265000010001A |Perua ckopoctu AB4140 1
8 30313090055000 [I"aiika AB4140 2
9 24261000180001A |IITaitoa AB4140 1
10 30213010015000 [Bunr AB4140 1
11 3091307003  |bont M6x35 AB4140 1
12 121063000025007A |Kprouok AB4140 1
13 3051303003  |I1laiica AB4140 1
14 3052301003  |IIlaiitba AB4140 2
15 A26800501603A [Konrpraiika M6x13 AB4140 2
16  [24261000070369A [Haknanka pyuku ckopoctu npaBasi AB4140 1
17 [24261000080369A [Haknanka pyuku ckopoctu nesast AB4140 1
18 2426800004A | Tpoc AB4140 1
19 3091307008  |bontr M6x30 AB4140 1

20 2426200007A  |[TmactwHa mist ¢ukc. nepexmodaresst AB4140 1
21 2428900014A  |Coen/xabens orki/muranus Topmo3a 1500mm AB4140 1
22 2429800003A | Tpoc AB4140 1
23 121061000113201A [[I1aiida AB4140 4
24 |24263000060001B |Pykostka Bepxusist AB4140 1
25 2109900041B  [bontr M8x52 AB4140 2
26 |21061000013201A |Hanpasnstomiast tpoca AB4140 2
27 30313060025000 |I"aiika M8 AB4140 4
28 | 21061000020369B |IToBopoTHas pykositka AB4140 4
29 |24263000050001A |Pykositka Hiokasist AB4140 1
30 30913090095000 [bonr M8x40 AB4140 2
31  |124277000112266A | TpaBocOoopurk AB4140 1
32 2427300008A  [Omopa TpaBocOoprrka AB4140 1
33 124261000090001A [3agnsas kpeika AB4140 1
34 2103800030A  |IIpyxuHa 3agHe# kpbiku npaBasi AB4140 1
35 2427300002A  |Ocsp 3aanei kppiku 6x465 AB4140 1
36 2103800029A  |TIpyxuHa 3agHew kpbiiiku Jieas AB4140 1
37 30913070165000 [bont M8x16 AB4140 7
38 2421500004A  [Ocsb 3agnux konec AB4140 2
39 [24262000110369A [Onopa pykositku npaBass AB4140 1




v,LLARTEc Mopenb arperata: AB 4140 (Ckapudukatop 6€H3MHOBbIN)

40 |24262000100369A |Omnopa pykosatku neBas AB4140 1
41 2030100378A | dsuratems LC1P65F-5/166CC AB4140 1
42 2423300005A | Dukcup-as miacT. HaTsDK/Koneca B c6 AB4140 1
43 2422300012A  |Hatspxnaoe koneco 42x25 AB4140 1
44 A26800904901 |Cromopnoe konbiio 22 AB4140 1
45 3061301005  [TTogmmmank 6900-2Z AB4140 1
46 2427300001A  |Brynka 25x3,2 AB4140 1
47 2263300008A |IlInonka 4,77x4,77x244 AB4140 1
48 123092000055000A |IITaiida 37x20xx2 AB4140 1
49 2422400006A  |Bemxynmwii mkus AB4140 1
50 2422600007A  |Pemenr AB4140 1
51 A26800618401 [bonr AB4140 1
52 3021302003  |Buar M6x12 AB4140 1
53 A26800308701 [Bunr M6x20 AB4140 2
54 3091304010  |bonr M6x16 AB4140 5
55  124261000100001A [Onopa AB4140 1
56 30313090035000 [Konrpraiika M6 AB4140 6
57 30913070015000 |Boar M6x16 AB4140 2
58 2426200016A  |Perynstop Beicorsl AB4140 1
59 30323060015000 |Konrpraiika M6 AB4140 5
60 3011301010  [Camope3 ST4x16 AB4140 14
61 24261000110001A |Onopa Bana AB4140 2
62 |24261000120001A [Brynka Bama AB4140 2
63  |24262000130369A [Kopnyc AB4140 1
64 3011301009 |Camope3 ST4x12 AB4140 4
65 3051303001  |I1laiiba AB4140 4
66 3091303005  |Bunar M8x30 AB4140 4
67 24261000130001A |ITepenusisi nanens AB4140 1
68 [24261000140001A [Onopa nopnmwmanka AB4140 2
69 3042301003 DnacTUaHOE cTONopHOE Koiblo 12 AB4140 2
70 A26800401201 (ITopmmmuank 62012 AB4140 2
71 3031307002  |T"aiika M16 AB4140 2
72 3052303001 Bomaucras npyxwunnas maiida AB4140 2
73 2426300010A |I1laiiba AB4140 2
74 |24254000012000A [Hoxx AB4140 18
75 124261000150001A [I1aii6a noxa AB4140 17
76 2423300002B  (Bam AB4140 2
77 2429200001A |Ilaiiba AB4140 1
78 3082306002  |[Itudr 6x35 AB4140 2
79 2426200014A  |Omnopa nonumrmuka AB4140 2
80 3061301011  [TTogmmmank 609-2RS AB4140 2
81 2426300011A  |Ocp nogmmmmka 35x49,5 AB4140 1
82 2429300008A  [Ocp 9x433 AB4140 1
83 2422300011A  (IxuB AB4140 1




v,LLARTEc Mopenb arperata: AB 4140 (Ckapudukatop 6€H3MHOBbIN)

84 3052301002  [[ITaitoa AB4140 2
85 30512050025000 (IIaitoa 8 AB4140 2
86 3091304004  [bont M8x20 AB4140 1
87 124261000240001A |3ammra pemus AB4140 1
88 3021305001  [Bunr M6x22 AB4140 3
89 21011001490155A |Konmak koneca 8 AB4140 4
90 3032302003  |T"aiika M8 AB4140 4
91 2101300065A  |[Tommmrmuk AB4140 8
92 [21011002600001A |Koneco AB4140 4
93 21011001460001A |ITsute3ammraesii guck Koiteca AB4140 4
94 A26800706202 |Illaii6a 12x18x0,5 AB4140 4
95 30323060035000 |CronopHas raiika M8 AB4140 14
96 2421500003B  [Och nepennux koinec AB4140 1
97 3011301018  [Camope3 ST4x10 AB4140 3
98 124261000170001A [Pyxositka AB4140 1
99 2421800002A  |[TpyxwuHa AB4140 1
100 |24261000230001A |Kpbimka AB4140 1
101 2425900002A  |3ybOuatas npyxwuHa 50x24 AB4140 26
102 |24261000220001A |I[Tognepxka Hoxxa AB4140 13
103 A26800307801 |Bunar M6x25 AB4140 1
104 | 24221000090001A |ITnactukoBoe konbiio AB4140 1
105 2421300005A  |OmnopHast mwiactuHa ocu AB4140 2
106 A26800614901 |bontr AB4140 4
107 2421300006A  [Kopombicio AB4140 1
108 2421800005A  |IIpyxwuHa kopombicia AB4140 1
109 30913050015000 |bonr M6x12 AB4140 2
110 2012100024B  |Illecturpannsrii kimrou AB4140 1
111 A26800906701 |Jepxartens Tpoca AB4140 2




